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For each variable in T1 (dlagnoss, sex etc), wrte in the ‘Score’ column the weight given to
the patients category.
a Lo ok
For each variable in T2 (days since admission etc), wrte the palient's valus i the ‘raw value'
column. Transform to the ‘new’value using the rules given. Thus:
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a "aw numbor ofdays of o9 3 s unchangad: anyting above 6 becomes 5 (the masimum)
a faw age ofeg 75 becomes 75-70 = ; anyihing beow 70 becomes (e minimu) w0 |27
araw MAC ofeg 20 becomes 30.20 - 10; anything above 30 bacomes 0 1he minimum).
araw Glasgow Goma Scoo of og 12 bocomes 15-12 =3, 2 | 39%
Muliply each new’ value by fs welght and put the answer in the ‘Score’ column. o i
For Acute Physiology Score in T3 there i no weight: just wit the APS i the ‘Score’ column P P
Galculate the Total Score and read of the estimated risk rom T.
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T Category | ey oney | SCOTE 0 |1se%
Diagnosis at ime of Corolfi 125 |20
decisionto agmit o COPD +asthma |18 =
ciicalcare
ashmaony| o P =
male [ 10
Sex 8 [s18%
tomale| 0
bedbound or chairbound | 45 0; |iseme
Physical funciion n 2 0 o5 |405%
Kibunirdrola housebound | 17
hospital admission restricted? 1 100 |45.0%
tlly mobile and iving without assistance | 0
105 [407%
T
Aia fibilation o 10 [504%
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value e value | (muliply) 120 [6sa%
e el (maimum &) a5 125 |677%
admission
Age Age — 70 (minimum 0) 18 130 | 716%
- 135 [753%
Lo, 30 - MAC (minimum 0) 26
i 10 [786%
asgow.Coma 15-GCS 16
Score 150 |84.2%
T3 160 | 88.6%
GOPD Acute Physiology Score m_[oren
180 [943%
Total score
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